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In the Name of Allah, the Most Gracious, the Most Merciful

Cuestion Mo : 1 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Cayveman number systern 1s Base

number systerm

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

P

en

COMeet

10

ONade by: Yy/aqar Siddhe

Cuestion Mo ; 2 of 52

Marks: 1 (Budgeted Time 1 Min) =]

110/10 =

Mote: both values are in binary

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

| correct
e|” Yade by: Yyaqar Siddbe




Cuestion Mo : 3 of 52

Marks: 1 (Budgeted Time 1 Min) =]

The circut dizgram below explains the

A M"‘>ﬁj‘[5+£) i\'}_ AdE
i" B
BN \—T““«

(A+B+C

Answer | Please select your comrect option )

Associative Law for Multiplication
o

WWW.VirtualAcademylLive.com

Commutative Law for Addition

Cormmutatee Law for Multiplication

Aszociative Law for Addition

correct  (YN)ade by: Yy/aqar Siddhe

Cuestion Mo : 4 of 52

Marks: 1 (Budgeted Time 1 Min) =]

A+ AR =

Answer | Please select your comrect option )

A
o

WWW.VirtualAcademylLive.com

A+B

commect  (Y¥)ade by: Yy/aqar Siddhe

Cuestion Mo : 5 of 52

Marks: 1 (Budgeted Time 1 Min) =]

A%+ ABC + A0 is an example of

Answer | Please select your comrect option )

Product of sum form
o

WWW.VirtualAcademylLive.com

Surm of product form

correct

Demorgans |law

Aszociative law

ONade by: YWaqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

A =tandard POS form has terms that have all the vanables in the domam of the expression

Answor (Plaaseseloctyour comrct option) WWW.VirtualAcademyLlive.com

e correct

Product

Min

Caormposite

: ONade by: YWaqar Siddhe

Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

T4HT 163 has two enable nput pans whuch are and

Aaswor (Plaase selctyour corrct option) WWW.VirtualAcademyLlive.com

ENP, ENT
£ COrrect
ENIL, ENC
p
ENE, ENC
-~
ENT, ENI
’ ONade by: Yy/aqar Siddhe
Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Given the state diagram of an up/down counter, we can find

Aaswor Plaase selctyour corrct option) WWW.VirtualAcademyLlive.com

The next state of a given present state
: correct

The prewicus state of a gven present state

Both the next and prewous states of a given state

The state diagram shows only the inputsfoutputs of a given states

: ONade by: YWaqar Siddhe




Cuestion Mo : 9 of 52

Marks: 1 (Budgeted Time 1 Min) =]

A multiplexzer wath a register corcut converts

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

Senal data to parallel

Parallel data to senal

correct

Semnal data to senal

Paralle]l data to parallel

ONade by: YWaqar Siddhe

Cuestion No : 10 of 52

Marks: 1 (Budgeted Time 1 Min) =]

What wall be output state when T =1, K =0 and CLE mput 15 active?

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

correct

Fetamns previcus output state

Toggle output

ONade by: YWaqar Siddhe

Cuestion No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) =]

When FRE" =0 and CLE' =1, Qt=0 then Qit+1) will be

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

Crutput of flip-Hop will be set (Loge 1)

correct

Crutput of fip-Hop will be reset (Logic )

Cutput of flip-Hop wall be mvabd

Flip-fop will change output on Clock transition

ONade by: YWaqar Siddhe




Cuestion No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Caompared to analog systems, digital systems

Answor (Plaaseseloctyour comrct option) WWW.VirtualAcademyLlive.com

are less prone to noise

2 correct

not sure

can represent an infintte number of valuss

can handle much highst power

oocupy large space

ONade by: YWaqar Siddhe

Cuestion No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) =]

When one 115 taken as a group on a Karnaugh map, the number of vanables elmnated from the output expression wlare

Aaswor (Plaase selctyour corrctoption) WWW.VirtualAcademyLlive.com

0
~

%]

correct

ONade by: YWaqar Siddhe

Cuestion No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Determne the values of 4, & ) and D for the sumterm 2+ B8+ €+ D

Aaswor Plasse seloctyour corrct option) WWW.VirtualAcademyLlive.com

A=1B=0,C=0,D=0
~

A=1B=0,C=1,D=0

A= BE=1C=0,D=l]

A=1EB=0C=1,D=1

ONade by: YWaqar Siddhe




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Determune the values of 4, 8 C) and D for the product term A2Cp

Answor Plaaseselctyour comrct option) WWW.VirtualAcademyLlive.com

A=0B=1C=0D=1
-
correct

A=1B=0,C=1,D=0

A=0B=0,C=1,D=0

: ONade by: YWaqar Siddhe

Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

A transparent mode means

Aaswor (Plaase selctyour corrct option) WWW.VirtualAcademyLlive.com

Input Hold time is zero (no need to mamtan input after clock transinon)

The changes m the data at the inputs of the latch are seen at the output

The changes m the data at the mputs of the latch are not seen at the output

Propagation Delay is zero (Output is srave diately changed when clock signal is applied)

: ONade by: YWaqar Siddhe

Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The design and mplementaton of synchronous counters start from

Aaswor (Plaase selctyour corrct option) WWW.VirtualAcademyLlive.com

Truth table

E -map

State table

State dhagram

4 correct YNade by: YWaqar Siddhe




Question Mo : 18 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The Sequential corcut whoese output depends on the current state and the mput 15 known as

Answor (Plaase selctyour comrct option) WWW.VirtualAcademyLlive.com

Moore hfachne
o
Mealy Machine
i correct
Counter
-~
Flips Flop
r L ]
ONade by: Yy/aqar Siddhe
Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The best state assignment tends 1o

Aaswor Plasse selctyour corrct option) WWW.VirtualAcademyLlive.com

Iamarmnazes the mumber of state vanables that don't change i a group of related states

correct

Mirirnizes the number of state vanables that don't change in a group of related states

bdirdrmres the equivalent states

Mawrires the equivalent states

: ONade by: YWaqar Siddhe

Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

In , the O3 output of the last ip-Hop of the shft register 15 connected to the data mput of the first fip-flop of the shuft regster

Aaswor Plaase selctyour corrctoption) WWW.VirtualAcademyLlive.com

Moore machine

Mealy machme

Johnzon counter

Eing countet

: ONade by: YWaqar Siddhe




CQuestion No : 21 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Inwalid state of WOR based SK latch occurs when

Answer | Please select your comrect option )

5=, k=0

WWW.VirtualAcademylLive.com

5=0,E=1

5=1,E=1

correct  (YF)ade by: Yy/aqar Siddh

CQuestion No : 22 of 52

Marks: 1 (Budgeted Time 1 Min) =]

The operaton of I-E Bip-flop 15 simular to that of the SE fip-fop except that the J-K fip-flop

Answer | Please select your comrect option )

Dioesn't have an mvahd state

WWW.VirtualAcademylLive.com

correct

Sets to clear when bothT=0and E=10

It dees not show transition on change m pulse

It does not accept asynchronous inputs

ONade by: YWaqar Siddhe

CQuestion No : 23 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Followang 15 the corout diagram of mono-stable dewce. Which gate will be replaced by the red colored rectangle m the cocust? =

I %H
i~ i M~

Answer | Please select your comrect option )

AND

WWW.VirtualAcademylLive.com

correct

MAND

HNOER

ONade by: YWaqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

A Bip-flop 15 comnected to +5 volts and it draws 5 m& of current dunng its operation, the power dissipation of the fip-Bop 1

Answor (Plaaseseloctyour comrct option) WWW.VirtualAcademyLlive.com

10 ™
~

25 mW

correct

&4 mW

84 mW
’ ONade by: Yy/aqar Siddhe
Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) E
RCO Stands for -
Answor {Plaase seloctyour corroct opion) WWW.VirtualAcademyLlive.com

Eeconfiguration Counter Cutput
o

Eeconfiguration Clock Crutput

BEspple Counter Cutput

Eipple Clock Cutput

: correct ONade by: YWaqar Siddhe

Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The Sequental crewt, whose output 15 determuned by the current state only 1z known as

Answer {Please seioctyour correct opion WWW.VirtualAcademyLlive.com
Moore hfachne
e correct
Mealy Machine
Flips Flop
’ ONade by: Yy/aqar Siddhe




Cuestion No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) =]

In asynchronous transmssion when the transmission lme 15 14dle,

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

It iz set to logc low

It is set to logic high

Femaing in previous state

State of tranemigsion hne iz not used to start transmission

ONade by: YWaqar Siddhe

Cuestion No : 28 of 52

Marks: 1 (Budgeted Time 1 Min) =]

+Wec

The output of this corowt 15 always

D

-

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

1

correct

|

ONade by: YWaqar Siddhe

Cuestion No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) =]

0D ——

CLK —a»

—4Q

— &

Which of the followng statement 5 true regarding abowe block diagram 7

Answer | Please select your comrect option )

WWW.VirtualAcademylLive.com

Triggenng takes place on the negative-going edge of the CLE pulse
~

Triggenng takes place on the positive-gomg edge of the CLE pulse
¢ correct

Triggenng can take place anytrne during the TOW level of the CLE waveform
~

Triggenng can take place anytime during the TOW level of the CLE waveform
£ L]

-
ONade by: YWaqar Siddhe




Cuestion No : 30 of 52

Marks: 1 (Budgeted Time 1 Min) =]

Which s not charactenshe of a shift remster?

Answer | Please select your comrect option )

Senal miparallel m
o

WWW.VirtualAcademylLive.com
correct

Senal infparallel out

Parallel mizenal out

Paralle] miparallel out

ONade by: YWaqar Siddhe

Cuestion No : 31 of 52

Marks: 1 (Budgeted Time 1 Min) =]

stonng

Answer | Please select your comrect option )

A bidirectional 4-bit shuft register 15 stormg the mbble 1110, Its RIGHTEFTinput 15 LOW. The mbble 0111 1= waiting to be entered on the senal data-mput lne. &fter two clock pulses, the shift remster 1z =

WWW.VirtualAcademylLive.com

1110
o
0111
p
1000
-~
1001
: cormect  (YF)ade by: YWaqar Siddhe
Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Smallest umt of bmary data iz a

Answer | Please select your comrect option )

Bit
w

WWW.VirtualAcademylLive.com

correct

Hibhle

Byte

Word

ONade by: YWaqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The high density FLASH memory cell iz unplemented usmg

Answor (Plaaseseloctyour comrct option) WWW.VirtualAcademyLlive.com

| Aoating-gate MO transistor

& correct

2 Boating-gate MOS transistors

4 Boatng-gate MOS transistors

& foating-gate MOS transistors

: ONade by: YWaqar Siddhe

Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

FIFO 1z an acronym for

Aaswor Plaase selctyour corrctoption) WWW.VirtualAcademyLlive.com

Fuirst In, First Cut

& correct

Fly in, Fly Out

Fast in, Fast Out

Hone of given options

: ONade by: YWaqar Siddhe

Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

In order to synchromze two devices that consume and produce data at different rates, we can uze

Aaswor (Plasse selctyour corrctoption) WWW.VirtualAcademyLlive.com

Eead Only Memory

First In First Cut Memory

Flash Memery

Fast Page Access Mode Memory

: ONade by: YWaqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Staclk iz a

Answor (Plaase selctyour comrct option) WWW.VirtualAcademyLlive.com

Bust Flash Memory
o

FIFO memory

LIFO metnery

Flash Memeory

: ONade by: YWaqar Siddhe

Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The woltage gam of the Inverting Arnplfier 15 gven by the relabon

Answer {Plaass saioctyour correc option WWW.VirtualAcademyLlive.com
Vea! Vin=-Eel By

2 correct

Vo ! Br=- Vi /Ky

Bl Vin =~ B/ Voa

Be/Vin= FufVem

: ONade by: YWaqar Siddhe

Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The process of converting the analogue signal mto a dygtal representation (code) 15 known as

Aaswor Plaase selctyour corrctoption) WWW.VirtualAcademyLlive.com

Strobing

P

Arplfication

Cuantszation

Diygtiration

: ONade by: YWaqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

A hold achon occurs

Answor (Plaasselctyour comrct option) WWW.VirtualAcademyLlive.com

After the analog-to-digital conversion

During each sample

Inrnedaately after a sample

Before each sample

: ONade by: YWaqar Siddhe

Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Accordmg to the samphng theorem, the samplng frequency should be

Aaswor (Plaass selctyour corrctoption) WWW.VirtualAcademyLlive.com

Greater than the lowest signal frequency

Less than half the lowest signal frequency

Greater than twice the ughest signal Frequency
~
correct

Less than half the highest signal frequency

: ONade by: YWaqar Siddhe

Question Mo : 41 of 52 Marks: 2 (Budgeted Time 4 Min)  [=]

What s the basic fimetion of a comparator

A i ki AR e WWW.VirtualAcademyLlive.com
= é&l e 55 'li:'-l K3 |ﬁ Thi AL AL ] ||i| |1un-}q,l[|
I | =ie =lleril===lEE==

. ONade by: Yy/aqar Siddhe




Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min)  [=]

What 15 meant by state asaignment process?

Avswer Please click hore 1o Add Answer WWW.VirtualAcademyLive.com.

B2 e e S e N AR I 1 B R
— =] S B ==

“ ONade by: Yy/aqar Siddhe

Cuestion No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) =

Cm the ffh clock pulse, a 4-bat Johnson sequence 15 Q0 =0, Q1 =1, Q2 =1, and Q3 =1 What wll be the sequence after suth clock pulse?
(Assume O3 represents the least sigruficant bat)

Answer {Please clck her to Add Answer WWW.VirtualAcademyLlive.com
B A R e B A e S ||
o BB die ernlE===EEsEE

“ ONade by: Yy/aqar Siddhe

Cuestion No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) =

What 15 meant by Meonotomeaty of Digtal-to- Analog converters?

Answer {Please clck her to Add Answer WWW.VirtualAcademyLlive.com
i e L A |
o BB die ernlE===EEsEE

. ONade by: Yy/aqar Siddhe




Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) (=]

Convert each of the followmg decunal numbers to Excess-3 codes
al 13 )43

Answer { Please click here o Add Answer) WWW.VirtualAcademyLive.com

N &R LB e e | LA |Eﬂ|imn%J|
[ B e =z zliakr z|| =— = | ===

13=01000110
43=01110110

" ONade by: Yy/aqar Siddhe

Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min) (=]

How can we calculate the frequency of an unknewn sygnal?

M { lasis cich i o A Koo | WWW.VirtualAcademyLive.com
N &R LB e e | LA |Eﬂ|imn%J|
| Sl ;|| =

The frequency of the unknown signal can be calculated by counting the number
of clock pulses of the unknown signal and dividing the count number by the
time interval in which the clock pulses are counted,

" ONade by: Yy/aqar Siddhe

Question Mo : 47 of 52 Marks: 3 (Budgeted Time 6 Min)  [=]

Wite down three charactensies of senal in / senal out 4-bat left shift regster

A s ik i o A Koo | WWW.VirtualAcademyLive.com.
- A Y IEAREER S el ) |l1| [ 100% =]
[ B e =z zliekr +|| =—=ll==ia

. ONade by: Yy/aqar Siddhe




Question No : 48 of 52 Marks: 1 {Budgeted Time & Min)

How DEAMS: are different from SEAMsT Wnte three pomt of differences.

=

Answr  Please lic s 0 Add Answer WWW.VirtualAcademyLive.com
D@ H&R| e o | AL |Eﬂ|imn%J|
Jriam B2 =z =imrw || =— = | ===

1. SRAM is static while DRAM is dynamic

2. SRAM is faster compared to DRAM

3. SRAM consumes less power than DRAM

4. SRAM uses more transistors per bit of memory compared to DRAM
5. SRAM is more expensive than DRAM

6. Cheaper DRAM is used in main memory while SRAR"

’ Q”Dnde by quar \91ddhn

Cuestion No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

£

Draw the fimction table of Full adder corowt

Aomwr  Plasse lick st 0 Add vmus WWW.VirtualAcademyLive.com.
@ &R LB e o | A LA |l1||1un%_[|
Jriorm k) BT | (R r|| === ===

“ ONade by: Yy/aqar Siddhe

Cuestion No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)

£

Ceanzider a state sequence a, f, d, ¢, a, b, e, [, d, ¢ Startng from mutal state "a", draw a table for the mputs and outputs for the state dagram given below

-

!.f“ fa“\._‘ _ |.'be ,_,.—q l-fjff'xll =
\‘“‘-31:! ~ i :I‘
oo/ N\ 4 -
Answor {Ploass click hore o Add Answor ) WWW.VirtualAcademyLlive.com
_GFEEH 0 E_:L-E:"l‘.'- a |H| 5 A A ||E| |1un%_[|
[ B e =z zliekr z|| =—=ll==ia

. ONade by: Yy/aqar Siddhe




Marks: 5 {Budgeted Time 10 Min) (=]

Question No : 51 of 52
Given below 15 an meomplete crcut diagram of parallel in { senal out sheft register, m which Q0, ©1, G2, Q3, and Clock mput are disconnectsd. Cormect above mentoned connections m such a way =~ =
that funchonalty of the gven circut 15 not affected,
o o o o
g —H = 7
=HIFT [TV ol 11 |1 ‘l'
S on [ = =115
08 WO QF
L J L L= -

Answer {Please clck her to Add Answer WWW.VirtualAcademyLlive.com
N & S e o | M E L@ Toow =)
oo ][ =l =it s EV=allEaEE

ONade by: Yy/aqar Siddhe

Marks: 5 {Budgeted Time 10 Min) (=]

|
CQuestion No : 52 of 52

Memory chips can be connected together m different marmers to merease the total size of the memory. Draw bleck diagram of 4K = word memory if vou are given four 4K x bytes chips

Answer {Please clck her to Add Answer WWW.VirtualAcademyLlive.com
IS EESR| L w5 G [R) [oow =]
oo ][ =l =it s EV=allEaEE

ONade by: Yy/aqar Siddhe




